-3

X
=
(=)

;‘é\ 2 //'\\ .2:
= C [<>) r
PO R o b R LR R ERR CILRLEEEE S RRRLLIILLEE E0.15F
S Cl| & © o
o 0.0 | t 0.1 1
\" - L
0.05H 0.05F
OF OF -
-0.05[ -0.05F
-0.1 -0.F
=015 { et i ERRRRRRREEE -0.15 EARRRRRELEEEEILIERRRRE - EERRILLLRR
.9_0\_2: (it | .9_0\_2: AP YT EETTIT R ITY || BT
T E i S F
N anzan 1o e SR T
0_55_ A L ] 1 (N R 0 A I ¥ [ A r 17T 7
C 055
-1 2 3 -1 2
10 1 TPlpg) (PCATO th eamlinélp 10 1 TPp_ (PCA t%obeamllneP
— L) [ VECTOT_IUUUEVT
e 3% i?.nﬁaa I&o@ésl
— D 1t n % Oev
—— D it_cpe 1000e! t
£ 100 £ 100g :
0] s N 2 gof et b |
] Aol
E 10 R PR PP E P PP, P PEPEPPEY (o EPEPRPPEY <10 B R TS EPE PR PP PEPET PEPEPRPREPEE: I | PEPRRRES
2 [ o [
40_— ----------------------------------------------- v 40_— ------------------------------------------------
\V H H

3

of .
1 2 3
10 L 1P (pea dbeamiindf

[~
- J|
(=} w .
X u :
= H :
A | e Rt Rt A
. H :
e | % F B
£
L N
o .
o T RN R
v W IF ) S —
11
el b
[
2y

...................................

Ratio

i G 9beamiindf”



	Contents
	Page 1


